


 
 
 
 

1402  18  18 1402
       

  

 2   -    -    -   -  -  -  -  
  -   -   -     -  

 -  -  -  -  -  -  -  

   -    -     -  -  -  -  
 -  -  -  

 -  -  -  -  -  -  -  
 -  -  -  -  -  

 -  -  -   -  
  -   -   -   -   -   -  

  -   -   -   -   -  

  

   2  

   
   

  
 

  
 
 

 
 

  
 

 

      
 

 
 

       

 
 
 

 
 

     

            
 

    

  
  

  :    :  
  

  
 
 

 
(  )    

021-6463   :       923        :          923         :6463-021

forum.konkur.in

www.konkur.in



  «1402   18 »   3 

 
(  ) «1» -1

.       =  

(87  86  :  -2 ) 

----------------------------------------------

(  ) «3» -2

:       

 
  = 1      = 0       0

.

(116  112  :   -2 ) 

----------------------------------------------

(  ) «4» -3

   θ            

:      .    = 2 θ

α = 4 α

:       

2 24 4 23 3
π πα ′′ α = = = −

(103  101  :  -2 ) 

----------------------------------------------

(  ) «1» -4

:     

1 2 2 3 1 1
1 1

+ − +
= = + +

+ +
 

  1:    =   = +

2 2 2 2=′ = ′ ′ ⎯⎯⎯→ ′ = ′ ′

52 2:    =52 2 2′ = ′ ′

   2
11.  ′ = −

3 5 21 632 24 2 25 100′ = ′ = ′ =

(96  94  :  -2 ) 

----------------------------------------------

(  ) «2» -5

      = 2   = 3 − 2  

  = 2            

2 = ′ 2 = 0    = + 2 + 2   

.

2 = 2 + 2 + 2 = 0 + = −1                (1)

(2)2 2 022
=′ ⎯⎯⎯→ ′= + = + =

:    (2)  (1)  

= 1 = −2 − 2 = 5

(89  84  :  -2 ) 

----------------------------------------------

(  ) «4» -6

           → 0  

1 = 1     :  

:    

20
1 1

→

− − −
=

+
 

20
1 1 1 1

→

− − − − −
=

+
 

0 0 0
1 1 1 1 1

1→ → →

− − − −
= −

+
 

= − ′ 1 − ′ 1 = 2 ′ 1 − ′ 1 = −2

2

forum.konkur.in

www.konkur.in



  «1402   18 »   4 

2    :   = 2 −

1
22 2 2 2 2 1 1 4

=
′ ′ ′ − ′′ = − ⎯⎯⎯→ ′ = = −

(96  80  78  :  -2 ) 

----------------------------------------------

(  ) «3» -7

5 1 2 2 3 4
3 3 3 3

3 2
5 5 5 15 3 3 3

− −
= − ′ = − =

= ±1          = 0      

      = 1      

.

(117  :   -2 ) 

----------------------------------------------

(  ) «2» -8

8 82 23 3− = − =

−2 2     .     

03 2 2 2 1 0′ =′ = + − ⎯⎯⎯⎯→ + − =

= 0 − 2 1

     .       = 1   = 0  

:     

50 0 1 12= = −

    8 8
3 3      −16

3.  

(118  116  :   -2 ) 

----------------------------------------------

(  ) «2» -9

 

:          .      

= 2 + θ = 2+ θ =ÌIõ¤ 

     21
2 θ.    =

2 21 122 2= − = − 

′ = 0    .       

01 22 4
′ =′ = − ⎯⎯⎯⎯→ =

1 2
4 16= = 

(119  118  :   -2 ) 

----------------------------------------------

(  ) «2»  -10

:    0 π        

′ = 2 −

′ =⎯⎯⎯⎯→ − =0 2 1 0 

∈ π

= π
π

= ⎯⎯⎯⎯→ =0

0 0
1
2 3

jnHkº JH¼] ½à pIM nj

 

 π= 3    .  0 π        

:    0 π          

π= + = + π = − +50 1 13 4 

+          5
4   

.  −1+  

:  

+ − + = + = =5 1 13 31 24 4 4 2 

(119  117  :    -2 )

 

forum.konkur.in

www.konkur.in



  «1402   18 »   5 

(  ) «2»  -11

        ′   

.   3    .      ′

(134  131   -2 )

----------------------------------------------

(  ) «4»  -12

′ = 5 4 −18 2 − 4 ′ 0 =0    :    

′′ = 20 3 − 36 − 4 ′′ 0 = −4 <0   :    

       .   «4»   

   = 0         

.  = −2 2

(138    -2 )

---------------------------------------------- 

(  ) «3» -13

:         

2 3
1 2

1 1
′ = ′′ = −

+ +
 

           ′    

.   > −1   < −1         .  

          

−1 1     .  

(144  141  -2 ) 

----------------------------------------------

(  ) «3» -14

:     

3
16 81

1 1
′ = + ′′ = −

+ +
 

0 3
3

8 1 1 8
1

′′>⎯⎯⎯→ < + >
+

 

+1> 4 > 3

(130  127  -2 ) 

----------------------------------------------

(  ) «2» -15

.  1     0

      = 0       = ±1

.  

′ = 3 2 + 2 + ′′ = 6 + 2

′′ 0 = 0 = 0

′ ±1 = 3 + = 0 = −3

1 13 3 1 1=−= − + ⎯⎯⎯⎯→ =

= 3 − 3 +1

.  −1 = 3       = −1  

(140  138  -2 ) 

----------------------------------------------

(  ) «2»  -16

:        

′ = 2 2 − ′′ = −4 2 −

′′ = −8 − ′′ = − 8 +1

.     ′′    

0
8 1 0 1

8

=

= −
+ = 

−π 0    = 0   2
π  = −

1
8.    3       .    = −

.            

(136  131   -2 )

  -2

forum.konkur.in

www.konkur.in



  «1402   18 »   6 

(  ) «1»  -17

:           

= = −
−

2 2 11 

:    = 3          

+′ = − ′′ =
− −

2 3
3 2 3 3

2 13 6
1 1

 

′′=
= = ⎯⎯→ = −

+ = + = = − ⎯⎯→ = −
⎯⎯⎯→

3
0

33

0 0 2
12 1 2 1 0 32

 

(136  131   -2 )

----------------------------------------------

(  ) «4» -18

:     ′′   ′   

2 2

2 2 3
2 1 2 3

1 1
+ +′′′ = =
+ +

 

       = 0       

′ 0 = 1     .  

(140  138  -2 ) 

----------------------------------------------

(  ) «1» -19

            3 + −1= 0

:      = 3 + −1

  ( :   

′ = 3 2 + ≥ 0 ≥ 0

:       (

0 3 2 0 3
<⎯⎯⎯→ ′ = + = = ± −

2 21 13 3 3 3 3 3
−

− − = − − − = − −

2 21 1 03 3 3 3⎯⎯⎯⎯⎯⎯→ − − − − − >k¹{IM  S¶°ø´À 

02 21 1 1 03 3 3 3
<− < − < ⎯⎯⎯→ − < − <

33
3
11 2 0 0 3 2

= −
⎯⎯⎯⎯→ − < − < < = − <

3
3 0
4

− < <

 ( )  ( )  3
3
4

.    > −

(140  138  -2 ) 

----------------------------------------------

(  ) «4»  -20

   .  > 0       

:    → ±∞       =0   

2 2

2 2 0
→±∞ →±∞

+
= = =

+
 

2     =
+

     .  

  .  3         

:  3   ′     

2 0 02
2 2 0′ = >−′ = ⎯⎯⎯⎯→ − = ⎯⎯⎯→ =

+
 

3 3 122
=⎯⎯⎯⎯⎯→ = =

(138  137   -2 )

 

forum.konkur.in

www.konkur.in



  «1402  18 »   7 

 
(  ) «1» -21

               1   

.  1     

= 750

(41  40  :  -1 ) 

----------------------------------------------

(  ) «2» -22

 .  (   )       

          = 2

:      .= 300  .

:    

01 1 2 2 30 12 2 × × ×= × × = =

 
:         

0  01 = 2 = 30

     .    = 2 300 = 3

  2       3 = 3

= − = 3 −1= 2     :

(35  29  :  -1 ) 

----------------------------------------------

(  ) «2» -23

0 0 0 0 0 0

0 0 0 0 0 0
70 10 90 10 90 70
68 8 90 8 90 68

+ − −
=

+ − −
 

0 0 0 0 0 0

0 0 0 0 0 0
70 10 10 70 70 10
68 8 8 68 68 8

+ −
= =

+ −
 

0

0
60 1
60

= =

(104  98  :  -1 ) 

(  ) «4» -24

   2
2
11 + =2 = 1− 2 2

:  

2 2 2
2 2
1 1 11 2 31 2

= = − =
−

 

:  

2
2 2 2

2
21 23= − = = =

:          

2 2 22 22
π− + π + = +

2 823 3= + =

(46  42  :  -1 ) 

----------------------------------------------

(  ) «3» -25

:       

3 6 6
π πθ + θ = θ

3 3 3 3 3 1
2 2 2 2θ + θ = θ θ = − θ

1
3 3

θ = −

  
2

2
12
1

−
=

+
:     

11 26 13272 1 28 141 27

−
θ = = =

+
 

1 25     

(112  110  :  -1 ) 

----------------------------------------------

(  ) «1» -26

            =  

.  = 16   = 9  = 4     

forum.konkur.in

www.konkur.in



8   «1402  18 »   

 = 4     .   = 16   = 9     

.  − 3    = 4        

44 3 0 3− = =

(151  145  :    -1 ) 

----------------------------------------------

(  ) «4» -27

  1
1=

−
2    −:   →

2
1 11→ −

=
−

 

1
1=

−
 1         = 2   

:    .   1

2
2 1 1

1
1→ − → + → +

= = − +
−

 

2
1

2 1
→

= − + = −

(136  132  :    -1 ) 

----------------------------------------------

(  ) «1» -28

2 2 2

2 2 20 0 0
2

1 2 2 32
3 3 3

3
→ → →

− = = 

2 2

2 20 0
22 2 93 9→ →

= = =

(144  141  :    -1 ) 

----------------------------------------------

(  ) «3» -29

3 3

1 1 4 1 4→ − → − → −

− −
= = =

+ +
 

     0 1        

          .  

:        ≠ 0

4 1 + = 0 = −4

3 3 2

1 1

1 1
2 13

4 4 4 24→ − → −

−
−

= = −
−

 

1
6=

(144  141  :    -1 ) 

----------------------------------------------

(  ) «3» -30

=           .      

:      

9 1 9 1
→ − → −

= − = −

:     

9 −1=                             (1)

 3 2 2 1− −=
−

   =     

:        

1
3    −3 2 − 2 −1= 0 = 1

 1
3:  = −

19 1 9 1 43→ −
= − = − − = −

2

1
3

3 2 1
1
3

+ +→ → −

− −
=

+
 

1
3

1 3 33 41
3

+→ −

+ −
= = −

+
 

 = −4  1
3      = −

11
3   = 1         .  − =

.       

(151  145  :    -1 ) 

 

forum.konkur.in

www.konkur.in



  «1402  18 »   9 

 
(  ) «1» -31

12
32 20

Δ
ôÃd¶ = + + = + =

            

    = 6   = 10   .2 = 12   2 = 20  

  9 > 8   >    = 8   2 = 2 + 2

.      

(48  47  :     -3 ) 

----------------------------------------------

(  ) «4» -32

:   

= ′ = 3

     :
Δ

′

2 2 0 2

1
2

+ 9 − 2 3 60 = 2 7 

7 2 = 28 = 2

= 2 ′ = 6 + ′ = 2 = 8 = 4

′ = 2 = 2 7 = 7

7
4    = =

(49  47  :     -3 ) 

----------------------------------------------

(  ) «3» -33

:     

 

1= − = 1 = +1

2 2

2 2 2

2 2

16

2 16

Δ + =

+ = +

= +

nj
 

2 +1 2 = 16 + 2 2 + 4 −14 = 0

2 18 3 2 2 2 6 2 41
− ±

= = − ′ = = −

(49  47  :     -3 ) 

-------------------------------- --------------

(  ) «3» -34

 .2 = 6     2 = 2 7   2 = 8    

          ′    

1 2    :=

1     :       2 =

′ = ′  

 
′:  .   ′         

1 1
2 2 2′

′ ′+= =

1 2 2 4 3 124= = = × =

(49  47  :     -3 ) 

----------------------------------------------

(  ) «3» -35

:

1 02 2
′ ′  − − =2 + 2 − 2 = 2

2 2 14 2 2

− −
+ = + ⎯⎯⎯⎯⎯→

′′ = ′′ =
Â£ÎH  Â ¿w

Â ¿w  tHß n
 

3

forum.konkur.in

www.konkur.in



  «1402  18 »   10 

1
2⎯⎯⎯⎯⎯⎯⎯→    − + −SwHn  S w  ¾M  ¾ºIÀj 

:         

1 1111 0 2 22 0 0

− + = = −
= − + −

− = =
 

    1 02:        

1 1 02 2= − =

(54  50  :     -3 ) 

----------------------------------------------

(  ) «1» -36

:        

2 2 + 2 = −

2 +1 2 −1 = −

2
2 111 2 1 12 4 2 8

− −
+ = − +

= =

Â ¿w  tHß n

 

1 12 8 8     : = α − = − − = −

= 2
(56  50  :     -3 ) 

----------------------------------------------

(  ) «2» -37

             

.

 
22 = 4 = 1 0 1

:  
2 4 4 4 1 2 1

2
= = =

=

  0 1   2 1        

.  = 1        = 1

(57  55  :     -3 ) 

----------------------------------------------

(  ) «3» -38

      .  1 0     

.              

(57  56  :     -3 ) 

----------------------------------------------

(  ) «1» -39

             3

                

:              .

3
2
4

=
=2  1

4
=
=1  1

2
=
=

 

1       (  )   2  3     

  5 < 3 < 17 < 20     20   17  5

1    1 2             

:     

 

= 12 + 22 + 2 = 3 = ±2

1
2

1 2 2 1 2 2 5
1 2 2 1 2 2 1

= + + =
= − + − =

(68  64  :  -3 ) 

forum.konkur.in

www.konkur.in



  «1402  18 »   11 

(  ) «4» -40

.        

3
 

1 1 − 2    3 4 2

= 3 −1 2 + 4 −1 2 + 2+ 2 2 = 29

.      ′    ′   

3
2

=′
=

 1
2

=
=

3
2

=′
= −

1
2

=
= −

(68  64  :  -3 ) 

----------------------------------------------

 
 

(  ) «1» -41

72 3
3 2 6 7

3 1 2
==

⎯⎯⎯⎯→ − + =
= −

1 2 3
1

3 1 2
=

=
= −

 

7 1 060214 14
θ = = = θ =

×

−3 − 2 2 + 2+ 3 2 + 1−1 2

(79  77  :  -3 ) 

----------------------------------------------

(  ) «2» -42

:   .  ( )        

=

5 225 25 0 5 2 2 2= + + = = =

= 300 = 3 ×2 × 300 

25 3 753 2 37 52 2 2 == × × × =

(79  77  :  -3 ) 

----------------------------------------------

(  ) «2» -43

= − = − 2 

0 1120 16 4 3 16 222= − = − − = −

(79  77  :  -3 ) 

----------------------------------------------

(  ) «4» -44

2 2
4 49 3

−
′ = = = −

+ = −1 0 3 + 2= 2 + 2 +2 

1+0+ 9 2 = 2 +32 − 8 2= 9 = 3 

(80  79  :  -3 ) 

----------------------------------------------

(  ) «3» -45

  1 2 − 2          

1 0 0       1 2 − 2   :  

= 1 0 0 × 1 2 − 2 = 0 2 2 

  :   4  

44 0 2 2 0 2 2 2 2
2 2
±

= ± × = = ± ±

    :        

= 2 2

(82  81  :  -3 ) 

----------------------------------------------

(  ) «1» -46

+ + =                

:  

 -3

forum.konkur.in

www.konkur.in



  «1402  18 »   12 

× + × + × = ×

× + × + × = ×

× + × = × = ×

× + × = × = × × = − ×

⎯⎯⎯→ × + 2 × − 3 × = ⎯⎯⎯→ = 0®ÅIe ¼ö 

(82  81  :  -3 ) 

----------------------------------------------

(  ) «1» -47

        ×            

          

:

= 0 3 −1 1 5 2 = 0 

5 − 5 = 0 = 1

= 0 1 5 2 = 0 

1 1 5 2 0 3=⎯⎯⎯→ + + = = −

3 1 1
2 10 4

1 1 3
= −

× =
= −

            

:    

1 1 4 100 16 302 2= × = + + = 

(82  81  :  -3 ) 

----------------------------------------------

(  ) «4» -48

 

1 2 2 6 0 3
0 3 0

=× = − 

1 1 3 536 92 2 2Δ = × = × + = 

3

3 5 1 52 2Δ = = = 

(82  81  :  -3 ) 

----------------------------------------------

(  ) «3» -49

:    

 

× = − ×      :× 

−3 ×2 = −6 × = 6 ×    : 

:

6 × = 6 2 1 1 −1 1 − 2 = 6 −2+1− 2 = −18 

(84  81  :  -3 ) 

----------------------------------------------

(  ) «4» -50

= × = 3     :    

:          

′ = + 2 + 2 × + 2 

2 2 2 4= + × + × + × + × 

= × + 8 × = 9 × 

= 9 = 9× 3 = 27

:

 0× = × = × = × =

× = × = ×

(84  83  :  -3 ) 

 

forum.konkur.in

www.konkur.in



  «1402  18 »   13 

 
(  )  «4» -51

               

) μ    (  )  95     

μ             5      (

.

 

 
 
 

 
      95     

σ σ
− +
2 2:       .  

%95    = (  )  (  )

2 2σ σ
= + − −

4σ   =

(127  121  :   -   ) 

----------------------------------------------

(  )  «4» -52

             

.   

(110  105  :   -   ) 

----------------------------------------------

(  )  «3» -53

:         

+ +− + −+ −= σ = =

2 2 2
2 2 2

2 2 4
 

:  

2
29 9 34 4

− = − = − =

      3       

.   

= 4 7 5 8

13 16            10    

 .  4 5 6 16           

.  13   

(121  118  :   -   ) 

----------------------------------------------

(  )  «4» -54

           

    .     σ
σ =

2
    :        2 σσ =

            

:   σ = 25 σ2 = 625

:         

2 625 2525σ = =

(121  :   -   ) 

----------------------------------------------

(  )  «3» -55

= 3      9       

       .6 203 =   

     3     3
20)  

:  (.  3    3     3  20  

  

2σ+2σ−

forum.konkur.in

www.konkur.in



  «1402  18 »   14 

3 2853 2 8520 100 =− = − =

(121  118  :   -   ) 

-- --------------------------------------------

(  )  «4» -56

            

.     

(115  105  :   -   ) 

----------------------------------------------

(  )  «1» -57

         95    4σ

.

4 42 2 510100
σ σ

= = σ =

2 = 25 1 = 2500

2 2σ σ
− ≤ μ ≤ +

2 5 2 55 5 4 8 5 250 50
× ×− ≤ μ ≤ + ≤ ≤

(122  121  :   -   ) 

= 2 4 7 14 28

----------------------------------------------

(  )  «2» -58

         

           

:    28     = 45 −17

= 2 4          5   

10   = 7       28  14  7    .

     1
3.  

(107  106  :   -   ) 

----------------------------------------------

(  )  «2» -59

.          

1
6

2
8

3
6 4 5 1 6 30 6
20 42

×
= +
= + = + ⎯⎯→ = +
= +

2 = 16   = 111 = 5

 

6 = 14 + 38

30 + 6 = 14 + 38 16 = 32 = 2

20
220 20 5 19 11 21411 = = +  = =

(107  106  :   -   ) 

2

----------------------------------------------

(  )  «4» -60

1 3 5 2 1+ + + + −  = = =

1 3 9 7 20 54 4
+ + +  = = =

 = 5               

.

(125  118  :   -   ) 

 

forum.konkur.in

www.konkur.in



  «1402  18 »   15 

 
(  )  «2» -61

.       

:    

1 2 2 1 2 4 4 2 3 6 6 3

2 1
6 3= = = 

(56  52  :  -   ) 

----------------------------------------------

(  )  «3» -62

    5        55

:  . 45

5 5 5

5 5
4 5 4 3125 1024 21011 3125 31255 5

− −
− = = =

(152  148  :    -1 ) 

----------------------------------------------

(  )  «2» -63

:         

 
             

:     6    

1 1 1 11 17
2 6 2 36 72= × + × =

(60  58  :  -   ) 

----------------------------------------------

(  )  «4» -64

=     

=     

4 6
1 1 3
10 8
2
4
10

×
×

×
= =

4 6 3 1
145 8 5

4 4 2
10 10

× ×
= = =

(64  58  :  -   ) 

----------------------------------------------

(  )  «2» -65

    (  )     1
2:  

1
2=(   )     

(   )     −1       

1 1
2 2

−
=

−

11 1
22 2

−
= ×

−

1
2 1
× −

=
− − − +

 

21 1 11 1= − = − +
− − +

 

       = 2 −1

35 = 62 −1

.   = 35     

(72  67  :  -   ) 

----------------------------------------------

(  )  «1» -66

:      

= 17 20 17 20 17 20

  

forum.konkur.in

www.konkur.in



  «1402  18 »   16 

17 20 18 19 18 19 18 19

18 19

= 17 20 17 20 18 19 18 19

1
2= =

(56  52  :  -   ) 

+ 4 = 1

-------------------------------------- --------

(  )  «3» -67

1 + 2 + 3

6 6 6 6
1 2 3 4 10 1 2 3+ + + =
× × × ×

 

+ + + =6 15 20 15 12 6 

+ + + = = =12 30 20 5 671 2 672 2 

30 20 10 102 3 2 2 2 67− = − = =

(52  48  :  -   ) 

----------------------------------------------

(  )  «4» -68

2
5′ = − = − =

2
5= +

1
5′ = − = − =

1
5= +

:  =   

1 5 1
5 2 1 15 5 12 5 2 5 2 5 2

5 5

++ + −
= = = = −

+ + ++
 

  5 + 2   1
5 + 2     

11 5 2−
+

          .   

  :    

1 1 11 15 0 2 2 2− = − =
× +

 

(47  44  :  -   ) 

----------------------------------------------

(  )  «4» -69

:           .   + 4   

4 2 1
4 4 1 10 5= × = =

+ + −

= + 4 + 3 2 −13 +12 = 0

(     ) 

20

112 1 0 12
=

− − =
=

 

(58  56  :  -   ) 

----------------------------------------------

(  )  «1» -70

′ ′ −′ ′ = =
′ −

1
1 

1 1 0 4 0 3 0 3 1
1 1 0 4 0 6 2

− + − − +
= = = =

− −
 

(56  52  :  -   ) 

 

forum.konkur.in

www.konkur.in



  «1402  18 »   17 

 
(  ) «3» -71

          3  γ = 3    

.

(47  44  :     -  ) 

----------------------------------------------

(  ) «3» -72

    = 1 2 3      

  .         

= 1 2 3          .   = 1 2

   = 4 5 6 7     

    3  2  1        

3  2  1         7  6  5  4  

.  

            :

.     

(47  44  :     -  ) 

----------------------------------------------

(  ) «2» -73

 

6       )     

:   (  

 

6       9 .   

(47  44  :     -  ) 

----------------------------------------------

(  ) «3» -74

:  5     

            ( )

:            

 
:              5   ( )

 
6   = 68

(126  120  :    -1 ) 

----------------------------------------------

(  ) «2» -75

   .          

4
3            

:  .

4 3 3 3 1083 1 1 1= =  

(140  133  :    -1 ) 

----------------------------------------------

(  ) «1» -76

01  2              

0 = 3 6 9 12     .  2  1  0   3   

 

forum.konkur.in

www.konkur.in



18 

11

  «1402  18 »   

1 = 1 4 7 10                      2 = 2 5 8

.  3        

0         :(1) 1   2   :   

43 123× = 

0       :(2) 1   2   :     

4 4 4 641 1 1× × = 

:         

12+ 64 = 76

(140  133  :    -1 ) 

----------------------------------------------

(  ) «2» -77

         2  « »   6 

  {            }   

    8 72 2 2.   =

(59  58  :   -  ) 

----------------------------------------------

(  ) «4» -78

:    1 + 2 = 5       

5 2 1 6 62 1 1
+ −

= =
−

     1 + 2 = 5        

   2
3   .    3 + 4 + 5 = 6

3    (2  )        

:             

3 4 5
6 2 10 6 72 1

+ −
= + ==

−
 

3 4 5
5 2 11 5 62 1

+ −
= + ==

−
 

3 4 5
2 2 1 32 2 32 1 1

+ −
= + = ==

−

7 + 6 + 3 = 6×16 = 96

 

3 = 3 4 + 5 = −3     .  

     = 6×

(61  59  :   -  ) 

----------------------------------------------

(  ) «1» -79

1          4   .  

1 2 3 4

7 4 1 10
7 4 1 3

+ −
= =

+ + + = −
¾à ²jI÷¶  Âÿ¹¶Iº cÃdÅ  ÁIÀ JH¼] jHk÷U

 

1 2 3 4

7 1 6
7 4 1 3

−
= =

+ + + = −
à¾²jI÷¶  Â÷ÃLö  ÁIÀ JH¼]  jHk÷U

 

6 6 5 4
3 5 4 13 2 1

10 9 810 5 3 8 6
3 2 13

×
× ×
× ×= = = =
× × × ×
× ×

 

(61  59  :   -  ) 

----------------------------------------------

(  ) «3» -80

= + + + = 12

              

.      

1
2

1 2 3 4
3
4

2 1
2 1

2 1 2 1 2 1 2 1 122 1
2 1

= +
= +

+ + + + + + + =
= +
= +

 

2 1 + 2 + 3 + 4 = 8 1 + 2 + 3 + 4 = 4

forum.konkur.in

www.konkur.in



  «1402  18 »   19 

 0≤ 1    1≤   1≤   1≤   1≤     

:   .0≤ 4   0≤ 3  0≤ 2

4 4 1 7 354 1 3
+ −

= = =
−

      

(61  59  :   -  ) 

----------------------------------------------

 
 

(  ) «3» -81

.    5  4  3  2  1       

 5  4               

  5  4               .

:   

64 + 64 + 84 − 24 − 44 − 44 +0

= −

= − − + = 54 − 44 − 44 + 34 = 194

(76  73  :   -  ) 

----------------------------------------------

(  ) «4» -82

    

     

     

.       

= −

= − + +

− − − +

= 104 −

6160
= 10000− 1296 +1296 + 4096 −16 − 256 − 256 = 3840

(76  73  :   -  ) 

(  ) «1» -83

:           

          

. = 4

          

. = 4

          

. = 4

      .  ′ ′ ′    

:  

′ ′ ′ = −

= − − − +

+ + −

5 4 3 2
2 2 2 22 3 2 3 2 2− × + × −′ ′ ′ =

′ ′ ′ = 1024 − 3× 64 + 3× 8 − 2 = 854

= 1           :

2  :   2 

(76  73  :   -  ) 

----------------------------------------------

(  ) «2» -84

     5           

:        .      6  

′ ′ = −

= − + −

= 6×5×4× 3×2

− 1×5×4× 3×2 + 5×1×4× 3×2 − 1×1×4× 3×2

= 720− 120+120− 24 = 504

(78  77  :   -  ) 

   -  

forum.konkur.in

www.konkur.in



  «1402  18 »   20 

(  ) «1» -85

 3      5     (2)  (1)  

                  .

3     4             

:     

3 − 3×2 − 3 = 34 − 3×24 − 3 = 81− 45 = 36

(78  77  :   -  ) 

----------------------------------------------

(  ) «2» -86

            4

1 2 3 4  17     

       5     5   17

            

:     17 1 1 45
− + =

(82  79  :   -  ) 

----------------------------------------------

(  ) «3» -87

    .   2×2   6     

            

 2 2                

.   (  )

 

(84  79  :   -  ) 

(  ) «4» -88

    12      5       

         6     

      5          

.    23

(84  79  :   -  ) 

----------------------------------------------

(  ) «1» -89

           

55 103 = 2×10+1 = 21        .  

.    

(84  79  :   -  ) 

----------------------------------------------

(  ) «3» -90

5 6 3 4 1 2   5      

   6        9 10 7 8

    5          

.   «3»    1    

:    

4 5 10        :«1» 1 2 3

1 2 3 4 9 10      :«2» 

1 2 5 6 9 10     :«4» 

(84  79  :   -  ) 

 

forum.konkur.in

www.konkur.in



  «1402  18 »   21 

 
(  ) «3» -91

:            
5 25 20 0 24 =λ = λ =

:            

0 2
15

0 2 10 2 15 15 75
λ=

=
λ = ⎯⎯⎯⎯→ = × = =

= 0               

       4     =

         .  = 8
3
4  .  = −8       =

       −8       
:   

1
753 7 7 1 7

4 4 4 75 300
=

= + = ⎯⎯⎯⎯→ = × =

1

(73  71  :    -3 ) 
----------------------------------------------

(  ) «3» -92

:                
3 15 20 2 104

−λ = λ = = ×

λ = 2×10−1 = 4 = 0 05

1    3
2

1 0 075 3
0 05 22     = =  

9
5

2 0 09 9
0 05 5         .  = =

            = 0   

1    2   :        

 
1           12       

.     
(73  71  :    -3 ) 

(  ) «3» -93

          2
λ

:   .

12 24 0 242
λ = λ = =

 

            
           

.  2           
2 = 10 = 5 = 0 05    :     
:    = ω         

0 24 0 21 2
λ λ

= = = =nIzTºH
nIzTºH

 

2 20 05 0 2 2
π π π= ω = × = × =

(77  71  :    -3 ) 
----------------------------------------------

(  ) «2» -94

            
:        

1 2 1 22 2
2 21 2 2

25100 2= = =

:        20     

2 2 2
80 80 25 20100 100

′ = = × =

:           

132
2 120

2010 10 10 2 10
10−

′
β = = = ×

13 3
10 2 13 10 100 3 13 133= + = + = 

141
1 120

10010 10 10 10 140 10 140
10−β = = = = =

2
1

133 19
140 20

β
= =

β
 

(81  80  :    -3 ) 
----------------------------------------------

(  ) «3» -95

          
«3»              

.  

3

forum.konkur.in

www.konkur.in



  «1402  18 »   22 

:    
.            (1

 2000           (2
.  5000

             (4
.     

(84  81  :    -3 ) 
----------------------------------------------

(  ) «2» -96

:              
2=Δ

Δ = = ⎯⎯⎯⎯→ =»nj¼i

»nj¼i »nj¼i
»nj¼i

 

              
:   

6 6 2= ′Δ + +
= ⎯⎯⎯⎯→ =

′
¥H»sQ

¥H»sQ ¥H»sQ
¥H»sQ

 

14=
′¥H»sQ

:             
14 2 7′

= = =
′¥H»sQ »nj¼i

(93  92  :   -3 ) 
----------------------------------------------

(  ) «4» -97

.               
:      

 
0

0 0 0 04 9090 180 90 22 55 5 5 4
α α

− = − α = α = θ = =

4502

   

θ =

(94  91  :   -3 ) 
----------------------------------------------

(  ) «3» -98

 .             
:         

0 0
1

245 1 2 302= θ × = θ θ =ÍÄI¶

:          

 
   (2)       .     3000

:         

12 12θ ′ = = × θ ′θ ′ ×ÍÄI¶ H¼À

θ ′ = 450

             

   .  1800

             :  

          1800

              
                   

.
(98  94  :   -3 ) 

----------------------------------------------

(  ) «3» -99

1 + 2 1 + 3 1 + 4 1 = 400 10 1 = 400 1 = 40

1 1
12 2 40 82 10= = = × × =

2
2= = ρ =

ρ ρ
 

4 3
128 10000

64 2 10−ρ = =
× ×

 

(107  105  :   -3 ) 
----------------------------------------------

(  ) «2» -100

.       ( )  ( ) ( ) 
:    

.             (

forum.konkur.in

www.konkur.in



23   «1402  18 »   

             (

      .      λ =

(108  105  102  :   -3 ) 
----------------------------------------------

 
(  ) «3» -101

:          
95 95←

← = +Â¶o]jkø
Â UH jkø Âº »oU¼º  jkø

= 95 − 48 = 47
:          

25 25←
← = +Â¶o]jkø

Â UH jkø Âº »oU¼º  jkø

Âº »oU¼º  jkø = 47 − 25 = 22
(138  :     -3 ) 

----------------------------------------------

(  ) «3» -102

:  
 (

            (
.      

           (
  = 83        .   

.  
          (

          .    

        = 22

.        
          (

.     
(141  140  :     -3 ) 

----------------------------------------------

(  ) «2» -103

:              

= 4 8×10−18 = 1 6×10−19 = 30

= 2 4×10−18 = 1 6×10−19 = 15
:    =         

= = 30 = + = 60
= = 15 = + = 30

   =          
:    

= = 60 − = 60− 30 = 30
(140  138  :     -3 ) 

----------------------------------------------

(  ) «1» -104

                  
   .         .   
              

           
               

         .     
.    

(140  :     -3 ) 
----------------------------------------------

(  ) «1» -105

          
         .       
    .           

:  

     (4
2     α0

1
+ +

:      
83 4 0 75
52 2 1 47

+
+→ α + +

:        

83 = ×4 + ×0+ 75 8 = 4 = 2
.      

:         

52 = 2×2+ ×1+ 47 52 = + 51 = 1
   «1»   .      

.   «3»

        (4
2    α

0
1

−:         −

83 4 0 75
52 2 1 47

−
−→ α + +

.    = 2    

 -3

forum.konkur.in

www.konkur.in



  «1402  18 »   24 

:        
× −1 + 47 = −1  52 = 2×2+

.   «4»  «2»   .    
(145  142  :     -3 ) 

----------------------------------------------

(  ) «2» -106

.            

0
1 1

1
1

+
− +

= −
→ +

= +
β 

65 65== + ⎯⎯⎯→ + =
7                 

:    .
+1 − −1 = 7 − = 5

65 305
+ =

=
− =

:        

19
30 19 18

1 6 10 30 1 6 10 4 8 10−
= = − −

= ×
= ⎯⎯⎯⎯⎯⎯→ = × × = ×

(145  144  :     -3 ) 
----------------------------------------------

(  ) «4» -107

:    Δ       

0
1
2

Δ

=

:    Δ       

0 0
1
2

Δ

′ = −

2 =     :      

     1
2

Δ

:  =

0 0
1 112 2

Δ Δ

= ′ = −

2
2

2
1
2 0 0

1 1
2 2

1

Δ

Δ Δ

=

= =

⎯⎯⎯⎯⎯⎯⎯→ = −

0
0

6000 2
1600

1
6000 1600 1 4

4
=
=

=
⎯⎯⎯⎯⎯→ = −

= − ¡  ¡  ù

 

:    Δ       

0 0
1 6000 1 45002

Δ

′ = − ′ = − =

(147  146  :     -3 ) 
----------------------------------------------

(  ) «2» -108

:   800            

1 1
2 2

800 400 200⎯⎯⎯⎯⎯⎯→⎯⎯⎯⎯⎯⎯⎯⎯→
½kºI¶ Â¤IM  ³o]

o ø  ¾ Ãº  1  S{m¬   pH  uQ o«Äj  o ø  ¾ Ãº

.    600       2    

1 1 1
2 2 2

2 = 60 = 30 = 30× 60 = 1800

(147  146  :     -3 ) 
----------------------------------------------

(   ) «4» -109

:  
 (
 (
 (
 (

       (     108

.        
(150  148  :     -3 ) 

----------------------------------------------

(  ) «4» -110

.   ( )  
:  

          (
             

.      
.             (

(
1 235 133 101 1
0 92 50 42 0 0++ → +

1+ 235 = 133 +101+ = 2
  (235.        

              (
.        .   

(153  148  :     -3 ) 
 

forum.konkur.in

www.konkur.in



  «1402  18 »   25 

 
(  ) «1» -111

        Φ = θ   

         .    

     .        

             

= 4             ´Ãw

:        .  2     

 

2 2 2 3 3  = π = × =

2
1 =

2 2
2 2

2 3 9 3
π= π = π = =

:    

2

2 2 2 2
221 1 1

13 412 3
Φ θ Φ

= = = = Φ =
Φ θ

 

(112  111  :       -2 ) 

----------------------------------------------

(  ) «1» -112

2 2 1 1θ − θΔΦε = − =
Δ Δ

 

2 2 1 1ε = θ − θ
Δ

 

2 2
0 0

3
2 10 0 6 60 0 1 37
2 10

−

−
×

ε = × − ×
×

 

0 22
10 0 3 0 08 2 2

5 ÷0 3 = 15  

ε = × − =

(114  111  :       -2 ) 

----------------------------------------------

(  ) «2» -113

  = 2π = 30

  = π 2 = 75 2

  = 4

Δ = 0 36

ΔΦ Δ θε = − = −
Δ Δ

4
475 10 0 3615 180 75 10 1 350 03

−
−× ×= − × = × × =

2 1 35 1 35 814 5 5
ε ×= = =

×

(115  113  :       -2 ) 

----------------------------------------------

(  ) «4» -114

            

       .ΔΦε = −
Δ

    

   ε .       =

             

           .

.      

2

forum.konkur.in

www.konkur.in



  «1402  18 »   26 

 

             

             

.     .      

 

(117  :       -2 ) 

----------------------------------------------

(  ) «2» -115

       :     

            

                 

           

.        

 

      :     

              

              

      .      

.           

 

22 = 2 2π 1 2 = 2 1

(118  117  :       -2 ) 

----------------------------------------------

(  ) «3» -116

2π

1 2 12= = =
π π

´Ãw  ¼ö

¾£±e  oÀ  ôÃd¶
  

2 1
2

2 1 2

1
2 2= = =
π

 

1 1 1
2 2 2

=
= × =

=
´Ãw  Íõ£¶  oõ¤  

2
2 22 2 1

0
1 1 1 2

= μ = × × 

2 2 2 2 2 21 1 1
1 1 2 2 2

13 2 22= × × × = × × ×

1
2

3
2=

2 2 2 22 2
1 1 1

1 1 132 3 3= = × = × =

(121  119  :       -2 ) 

----------------------------------------------

(  ) «1» -117

          

  .        

:   

forum.konkur.in

www.konkur.in



  «1402  18 »   27 

 

2 3 2
3 2

32 3

1
32
2
3

== =

== +
 

                 

21
2:   =

2 2 2
2 3 1 2 2 3 3 1 1

1 1 13 3 2 2 2+ = + =

2 2
2

1 1
43 7 5 99 9+ = =

(122  121 73  :      -2 ) 

----------------------------------------------

(  ) «2» -118

19 19 76 10 6 360 60 6
π= = π × = = −

2 21 1 20 3 902 2= = × × =

   .        

2 10π    = π1
5    1

10.   

19
60 31

2 10

=

(124  121  :       -2 ) 

(  ) «4» -119

  ε = 2         

:   .          

2
1
1
2

2 2 2
2241 1 12

2

24 42 12=
=
=
=

= ⎯⎯⎯⎯→ = =

(127  126  :       -2 ) 

----------------------------------------------

(  ) «3» -120

.  ( )  ( ) 

:  

             (

            

              

. 0 = 0  

.       (

.           (

:         (

0 02 230 30 2
επ π= ε = ε = ε =

(126  122  :       -2 ) 

 

forum.konkur.in

www.konkur.in



  «1402  18 »   28 

 
(  ) «4» -121

            

:   .           

1 1 2 2 1 1
1 1 2 2 1 1

1 4
273 2 273= =

θ + θ +
 

1 4θ1 +1 4×273 = 2θ1 + 273 0 6θ1 = 0 4×273

0θ1 = 182 1 = 182+ 273 = 455

(129  128  :  -1 ) 

----------------------------------------------

(  ) «1» -122

 .          4     

> 0    :  

:   .   Δ       

= =

5 4
↓ ↓ ↓ ↓

> > >

Δ > 0 Δ > 0

(133  129 128  :  -1 ) 

----------------------------------------------

(  ) «4» -123

  (2)  (1)      −     

   . Δ > 0        .

  −            

             

:    

 

=

KÃ{

 

2 1(1)  >  (2)  >

(« »    )      (2)  (1)     

   .(  « »   )      (

          < 0   Δ > 0

.(  « » )    

:           

0
0 0<

Δ >
Δ = + ⎯⎯⎯→ >

6   

(  « » ) .         

(132  130  :  -1 ) 

----------------------------------------------

(  ) «1» -124

            

      .        

   .    3900    2

.              

:  

2 2
1 1

Δ Δα
Δ Δ

α =
α

2 1 39002 1
1

3 8 1 2
1 2 0 0

− =−− = ⎯⎯⎯⎯⎯⎯→
− −

 

1

forum.konkur.in

www.konkur.in



  «1402  18 »   29 

1
1

2 6 3900 18001 2 = =

:  2 2 2
1 1 1

38 19
12 6= = = =

2 1 1 1 1 1
19 13 3900 18006 6Δ = − = − = = =

(130  :  -1 ) 

----------------------------------------------

(  ) «3» -125

     .        

:  .        =

54 4
5 1

= ×
α = =

= ×
 

:             

= Δ = 0

:        

1
1

0
= −

Δ = = − = +
= −

 

5 35 1 10 1 10 9004 112 52 8

−+ × × ×
= = =

           

         ) .  Δ = 300

:(     

 

55 3
2 10 7 5 10 200−

Δ = +

= − = − × − × = −
  : 

300 = − 200 = 500

:         

= + = 612 5

(135  130  :  -1 ) 

----------------------------------------------

(  ) «2» -126

:    Δ = 0        

Δ = 0 Δ + Δ + Δ = 0

0=Δ = + ⎯⎯⎯⎯⎯⎯→»nnj ÂM 

Δ = = 600

 Δ = 0

   Δ = +     = 0

Δ =

:        

600+0+ = 0 = −600

.      600     

(140  139  :  -1 ) 

----------------------------------------------

(  ) «4» -127

  20             

:       

20 0 8100 == −

forum.konkur.in

www.konkur.in



  «1402  18 »   30 

40 8 5 = =

:         

1 4
1 5

= − − η
η = ⎯⎯⎯⎯⎯⎯→ =

− η
 

 =          

:   

0 251 14 4
1 5 1 0 25 5

η =− η − η
= ⎯⎯⎯⎯→ =

− η −
 

   %401 4 3 21 0 43 5 5 5
4

− η
= − η = η = =

(145  :  -1 ) 

----------------------------------------------

(  ) «1» -128

:  

(       )  (

           (

:     

  :  Δ = 0 + = 0 = − = ′

.            (

          (  

              

                

.       

(147  146  :  -1 ) 

(  ) «3» -129

                  

.  

          

              

.  = 0     

   .           «2»  

           «3»

.     

(147  130  :  -1 ) 

----------------------------------------------

(  ) «3» -130

        :«3»   

             

   .          

.     

(143  141 137 133  :  -1 ) 

forum.konkur.in

www.konkur.in



  «1402  18 »   31 

 
(  ) «2» -131

:   
.       6    (

2   (2  6 14   2     .    
.   

            (
.  

(75  73  :         -3 ) 
----------------------------------------------

(  ) «3» -132

2    2  4          

2             

4  .      
(75  :         -3 ) 

----------------------------------------------

(  ) «2» -133

        5+    

       ) 4+ 3+  2+

            (  
:           .  

+ 2 5+ → 2+ + 2 5− +

:               
5

5
5

1500
1000

+
+

+×
¼±d¶

¼±d¶
¼±d¶

 

5

5 5
0 4 65 19 511 2

+

+ +× × × =
¼±d¶

 

= 3
   5+       3   

 2+ )       5+ 
4+ 3+(.        

(86  :         -3 ) 
----------------------------------------------

(  ) «1» -134

:  
            (1

.   

.  6        (2

             (3

.            

              (4

         

.  

(82  80 79  :         -3 ) 

----------------------------------------------

(  ) «2» -135

:  

.        :  

            :  

.      

            :  

.   

           :  

.     

.             :  

(88  87  :         -3 ) 

----------------------------------------------

(  ) «2» -136

:  

3      :    δ +         

3  .  δ −      

.         :  

 

2   :  2       

2             

.   

3

forum.konkur.in

www.konkur.in



  «1402  18 »   32 

2    :  3       

2             3    

.           

(77  75  :         -3 ) 

----------------------------------------------

(  ) «2» -137

 
=    : = + +

          

= − +      .      .

(98  97  :        -3 ) 

----------------------------------------------

(  ) «2» -138

  .         

.        

:   

.            (1

      Δ     (4  3

.           

(99  :        -3 ) 

----------------------------------------------

(  ) «4» -139

.    

:  

2            (3   .  

23              

.   

:        (

 
 

 

2    (2        

.         

    3  1      (

2.     

(102  94  :        -3 ) 

----------------------------------------------

(  ) «1» -140

 
2          6   

.  

2

806×1024

2 2 = 2×28 = 56

3× 2 = 3×18 = 54

    = 1

23
2 1
6 6 02 10

× =
× ×

³o]  R»IÿU 

2 3 2 22 4 3
2 2 3

+ + −
+ + → +

oÿÅ

 

2  :   

3  : 

  =   ×    

(    )   

24
23

11 806 10 3
6 02 10

= × × =
×

 

→ 3 = 3    × 3 → 3     = 1

3     1 = 3   =   

forum.konkur.in

www.konkur.in



  «1402  18 »   33 

2 2
2 3

3 2

2 281 2 1= × ×

= 28 2

2 2
2 3

3 2

3 181 2 1= × ×

= 27 2
   = 28 − 27 = 1

(102  :        -3 ) 
----------------------------------------------

 
 

(  ) «3» -141

              
.   

:    2 6  2 4 2+ ⎯⎯⎯→

:    
2 42 4 2 2 5+ ⎯⎯⎯⎯⎯→

:    

22 4 ⎯⎯⎯⎯→nIzÎ  »  I¶j 

(114  :        -3 ) 
----------------------------------------------

(  ) «3» -142

          
:   

 

3 12 105510 12 8 1 4 16

3 12 105

× + × + × = ×

192 = 312000 = 1625

8 12 8 1 : × + × = ×

104 = 312000 = 3000
3000−1625 = 1375     :       
(116  114  :        -3 ) 

----------------------------------------------

(  ) «3» -143

           
:     

 

2+ 2 2 → − − + − 2 3 −

:             

3 8 2
3 8 2

3 8 2 3 8 2

1138 76× ×
oTwHÂ±Q 

193 1861
−×

× = =
oTwHÂ±Q

oTwHÂ±Q
oTwHÂ±Q

 

:               

5 6 4   =

  = 186 = + 12×5 + 1× 6 + 16×4

= 56
             

:  

2 2 4   =

     = 56 + 12×2 + 1×2 + 16×4

= 146 −1

(119  116  :        -3 ) 
----------------------------------------------

(  ) «1» -144

8 6 4 + 2 6 2 → 10 8 4 + 2 2

10 8 4
8 6 4 10 8 4

10 8 4

19 6 192= ×

8 6 4 8 6 4
8 6 4

10 8 4 8 6 4

166 8 31 1× × =

10 8 4
2 6 2 10 8 4

10 8 4

19 6 192= ×

2 6 2 2 6 2
2 6 2

10 8 4 2 6 2

62 3 11 1× × =

10 8 4
10 8 4

10 8 4

19 6 192= ×

23
23

10 8 4

8 6 10 2 4 101 1
×

× × = ×

(117  116  :        -3 ) 
----------------------------------------------

(  ) «2» -145

:  

   )        (1

.      (

 -3
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8 6 4      (22 6 2       

.   (  )

1

.             (3

.       (4

(120  116  :        -3 ) 
----------------------------------------------

(  ) «2» -146

 :              = −2

  :      = −1

.     1   

(120  118 117  :        -3 ) 
----------------------------------------------

(  ) «1» -147

:  

              (

.     

.   (    )     (

.          (

              (

           

.       

(120  119  :        -3 ) 
----------------------------------------------

(  ) «2» -148

.   ( )  ( ) 

:  

           (

.        

        (nHk£¶

nHk£¶
 

            

        .   

      .       

.  

(

0 2 10 2
10 8

0 2

1 10
↓↓

× =

 : 

10 0 05 0 5
8 10

0 05

1 10
↓↓ × =

 : 

             (

.          

(121  120 118 117  :       -3 ) 

----------------------------------------------

(  ) «4» -149

4 + 2 → + 3 2

+ 2 2 → 3

.     1         

2 kº I¶ Â¶  ¾ÎIòH = 8000 4

4 2
4

11
16 1× ×

ÂÎIòH 

= 500 2

 
10 8  10 8

10 8 2
2

1 128500 5 1= × ×

= 12800
(121  120  :        -3 ) 

----------------------------------------------

(  ) «3» -150

0 0 θ1 = 450 − 5500:   .  θ2 = 350

1 2 : θ > θ

:   

     (1 30− 50     3500

.  

:   30− 50       (2

50− 30 = 20
(42

(121  120  :        -3 ) 
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(  ) «1» -151

.      

  
 

  6  5

  3  2  

  6  6  

      

  .          

.      .      

      -    

.    

(104  :    -2 ) 

----------------------------------------------

(  ) «4» -152

             

.                

 
:  

.   -1     (1

.           (2

 (3

44 8 + 6 2 → 4 2 + 4 2

2
2 4 8

4 8

41 1= ×

= 4 2

2  .         

 (4

 

12 112= =
Â¨HoT{H  kº ¼ÃQ  jHk÷U

IÀ´UH  jHk÷U
 

(104  :    -2 ) 

----------------------------------------------

(  ) «4» -153

:        

 

     4           

.     3 

3
8 8

1013 1×¾º I¬»j  kº ¼ÃQ

8 8 8 8
8 8 8 8 8 8

41
104 1 1× × ×

¾º I¬»j  kº ¼ÃQ 

 
23

266 02 10 3 01 101
×

× = ×
¾º I¬»j  kº ¼ÃQ

¾º I¬»j  kº ¼ÃQ
 

  0 92          

.  2 4     .  

26  2 4 3 01×10

2 4
23

281
16 02 10

× ×
×

½kº ¼{nHo§U  keH»

½kº¼{nHo§U  keH»½kº ¼{nHo§U  keH»
 

2 4
32 4 2 4

1 1 15 20 92 10
× ×

(107  102  :    -2 ) 

2
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(  ) «3» -154

:  

.       −   :  

         :  

.     (  )

           :  

      .      

          

.   

           :  

          

.     

            :  

          

.           

(111  109  :    -2 ) 

----------------------------------------------

(  ) «4» -155

          

.   

 
:  

.          (1

.    4        (2

 
    (  8  )      (3

.      (  4)   

.  0 75         (40

2 4 2

2 4 2

100

100

×
= =

×

³o]

Â¶o]  kÅnj ³o] ³o]

³o]Â¶o]  kÅnj ³o]

³o]

 

2 12 0 752 16
×= =
×

 

(112  :    -2 ) 

----------------------------------------------

(  ) «2» -156

4 8 2    :  

 :  2 5  

 :  2  

:  

(1

2 5
100= ×

³o]

³o]
     

2 12 24100 100 52% 50%2 12 6 1 1 16 46
×

= × = × >
× + × + ×

 

.        

4 8 2  (2   14  3  .   6  

6 12 2           (3

4 8 2        .  

 (42  2 4      (  ) 

2 5.  

2 42 4 2 2 5+ ⎯⎯⎯⎯→

(114  112  :    -2 ) 

----------------------------------------------

(  ) «4» -157

:  

:         (1
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 (26
10=

Ákº¼ÃQIº  ·»oT§²H   Sÿ]

·r»nkÃÀ  ´UH  jHk÷U

2         (3   

  .      .   

           

.  

(4

14 10 2 2 14×12 + 10×1 + 2×14 + 2×16

= 238 −1

(115  113  :    -2 ) 

----------------------------------------------

(  ) «2» -158

:    

 +    + 

           

.    

:   

5 10 2
5 10 2 5 8 2

5 10 2

1020 1 1= × 

2 5 10 2= 10

:   

2
1 180 1 1 81 1= × × =

JA JA
JA oTwH

oTwH JA
 

    = 10 2 +1 8 = 12

(117  :    -2 ) 

----------------------------------------------

(  ) «3» -159

.         

:  

          :  

.   

           :  

.           

         :  

        .     

           

.      

(119  118  :    -2 ) 

----------------------------------------------

(  ) «3» -160

2        3         

.         

:  

:     (1

 

       6     7

.  1   

            (2

.   

            (3

         .  

.

−.           −   (4

(121  :    -2 ) 
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(  ) «2» -161

:              :  
1000 201 5 1 100= × ×

¼±d¶ ¦ º
¦ º ¼±d¶

¼±d¶ ¼±d¶
 

= 300  
1500− 300 = 1200              

    100      .  80   600

   .       80   ( )   
         1200     

       .       
.             

801200 960100= × =
¦ º

JA
JA

   

      = 960− 300 = 660
.         660   

         :  
         .   

            
.      

100 20 1001500= × = ×
¦ º ³o] ¦ º ³o]

¼±d¶  ³o]
  

   = 300

            : 600

:        
  =    +   

1500 = 300 +      = 1200
80

100 1200 100= =
¦ º ³o] ¦ º ³o]ÁoÄmQ °dº H

JA  ³o]

  = 960
         = 960− 300 = 660

(103  101  :    -1 ) 
----------------------------------------------

(  ) «3» -162

 0 01≤ < 1    1   0 01        
.            100

 100    )      
:       .      (

2 2
4 4

0 21
→ + + −

.          

2

2 4
4

4

10 21 136
+

+ = ×

ÁoÄmQ °dºH

 

2 2

24

1 40 0 06181 1

+ +

+× ×

   2+:     

4
2 2 2

10
100
100 %+ + +

×=
⎯⎯⎯+⎯→ ⎯⎯⎯= ⎯× ⎯→

2 2
100 0 0618% 0 0618100 0 0618+ +

×
=

+
 

= 0 0618×104 = 618
(103  101  :    -1 ) 

----------------------------------------------
(  ) «4» -163

               
              

      .    200
.          

     :200

3 3 2 2 7 3> > >
(102  :    -1 ) 

------------------ ----------------------------
(  ) «3» -164

          
  .            
  )           

(.   (   )     

2     2   2          2    
        .     

           
         .  

       .       
.          

(109  107 106  104  :    -1 ) 
----------------------------------------------

(  ) «3» -165
.   ( )  

:  
.        (

1

·jo¨  oÊº ýoÅ  ®MI¤
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2 6   (    3 6     
.            

6 14      (     20  

3 6.    10  
             (

.      
(109  107  :    -1 ) 

----------------------------------------------

(  ) «2» -166

:  
.         (1

:        (2

 
          

.        
            (3

.  
          (4

         .   
.           

(108  :    -1 ) 
----------------------------------------------

(  ) «3» -167

  -           
           

4          .   4
.   

(111  :    -1 ) 
----------------------------------------------

(  ) «4» -168

      )      
        .    

     .         

 .            
              .   « » 

.            
 .              
        .   « » 
          
      .   « »   .  

                
    .        

 .             
.   « » 

(118  117  :    -1 ) 
----------------------------------------------

(  ) «1» -169

       115      
 9            .     

2   4 5 .   0 02   0 04   

2   :       

2
2 2

2

0 025000 1100× =

3   :

2 3 3
2

2 2 3

1 2 122 51 32 3 1× × ×

552
(115  :    -1 ) 

----------------------------------------------

(  ) «4» -170

:  
             (1

        .    
.      

.          (2
          (3

.           
            (4

.            
(119  118  :    -1 ) 
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